DENSITY, MASS AND VOLUME - PRACTICE QUESTIONS
CALCULATOR ALLOWED

1.
A marble has a mass of 5 grams and a volume of 2 cm3.

Work out the density of the marble, in g/cm3.

D 4 V Aeméri"‘-j:"_ mass = volume

= 54l
=25 3/&*\3

2.
A block of wood has a density of 0.75 g/cm3 and a volume of 120 cm3.

Work out the mass of the block of wood, in grams.

05X 120 = a0 growms

M’"”"-—h

3.
A brick has a density of 500 kg/m?3 and a mass of 10.5 kilograms.

Work out the volume of the brick, in m3.

10.5 SO0 = 0.02Z1 m3

4. :
A metal rod has a mass of 150 grams and a volume of 25 cm3.

Work out the density of the rod, in g/m3.

|1SO — 2 = ¢ 3/?‘%*’}-5




5.
A gold bar has a density of 19 g/cm? and a mass of 9,500 grams.

Work out the volume of the gold bar, in cm3.

9500+« 19 = SO0 ¢m°

—

6.
A piece of aluminium has a density of 2.6 g/cm3 and a volume of 15 cm3.

Work out the mass of the aluminium, in grams.

2.6 X 15— 39 grams

7.
A cricket ball has a density of 0.8 g/cm? and a mass of 165 grams.

Work out the volume of the cricket ball, in cm3.

16508 = 206.2%cm?

8.
A piece of carbon has a density of 2.2 g/cm? and a volume of 70 cm3.

Work out the mass of the piece of carbon, in grams.

1.2%70 = \S5% groms

9.
A cube has side length 8 cm and has a mass of 960 grams.

Work out the density of the cube, in g/cm3.

Vowume = 8% = S12 em®

460 = 512 = 18753/cm’5




10.
Pictured below is a block of wood.

Scm

12 cm

The block has a mass of 288 grams.

Work out the density of the block of wood, in g/cm3.

Volume = SX 12X &= 2kD e

ZRR =20 = L2 g/ am®

11.
Pictured below is a metal sheet.

15 cm

1.2 cm

42 cm

The density of the metal sheet is 5.5 g/cm3.

Work out the mass of the metal sheet, in grams.

Volume = I X2 X IS = 1S6wm >’

156 X5.5= 4,158 grams




12.
Pictured below are two blocks — Block A and Block B.
Block A Block B
4.4 cm 3 cm 4.5 cm
T
&7 om 3 cm
8.8 cm

Block A is made from tin and Block B is made from tungsten.

Tin has a density of 7.3 g/cm?.
Tungsten has a density of 19.3 g/cm3.

Which block has the largest mass — Block A or Block B?
A Volume = 4 Ux8 QX2 7= 104 Shikem?
Mass = 104 .5k X 7-3= 763.VTIL2L groms
B Vowme= 3X3X &S =40.5 cm?
Mass = LO.S X 19.3 = 7&\.65 WS

Block 8 Was the lomgest mass.

13
Pictured below is a block of wood.

23 cm

3 cm

38 cm

The block of wood has a mass of 980 grams.

Work out the density of the block of wood, to 2 decimal places.

Vouumg = 23X 33 3= 131 em?
i

420 =~ \B\\ = 0747152 ..
- 0.75 3[0&41"




14.
Pictured below is a metal cylinder.

1.4m

29 m

The cylinder has a mass of 21,000 kilograms.

Work out the density of the cylinder, in kg/m3.
Give your answer to 4 significant figures.

Radius = 2. A=L=1.45m
Volume =TI X 14 S% X4 =3, 2087 ... ™

21,000 =4.2%7.. = 227093 8.
= 2,271 kg/m?

15.
Pictured below is a block of wood.

3.6m
1.9m

The density of the wood is 540 kg/m3.
The block has a mass of 28,000 kg.

Find x, to 2 significant figures.

Volume = 23,000 =540= 51, 2S | g2
= S1.851 =3.651.4
- 1.58086% .
—7.6m




16.
Pictured below is a cube.

The cube has a mass of 6.5 kilograms and a density of 15.4 g/cm3.

Find the side length of the cube, to 2 significant figures.

Volure = ©&,500= |5 k= 422.0779.

side leng¥a=3[r22 0779,
= 7,502 .
- 7.5 um

17,

Pictured below is a triangular prism.

3.1m
The triangular prism has a mass of 320 kilograms and a density of 4 g/cms3.

Find x, to 2 significant figures.

Ayea o trongle = %lvoy;i\o = 2,700 ™
x = 80,000=2\,100
~ %, @866 ...
-3 ., ] ™M




18.
Pictured below is a cylinder.

24 cm

r
L

-
-

1.1m

Nicola is trying to work out whether the cylinder is made of silicon or carbon.
The density of silicon is 2.33 g/cm3 and the density of carbon is 2.26 g/cm3.
The cylinder has a mass of 112 kilograms.

Which material do you think the cylinder is made of?
Rodius = 24 =2 = |2 cen
Voluvie = TLX 12X 11O = 49762 L7622 ¢m?
Dengidy = 112,000+ 49,762 .8276 3
-2 LS067... 5/@—,3
Corls on, becansz s densily 18 closrr 40 22bgfom’

19,
Pictured below are two solids — Solid A and Solid B.
Solid A Solid B
36 cm 45 cm
11 cm 9 cin
68 cm 80 cm

Solid A has a density of 1.7 g/cm3.
Solid B has a density of 2,750 kg/m83,

Which solid has the largest mass — Solid A or Solid B?
A Volume — 2% 6BXW= 26,928cn,3
Mags = 26 23X 1.7=55,777-6 groms
B Volume = 0 4S X0 By 0,08 = 0,016 m?3
B |
Mass = 2,750 X0.0\6L = 4 4+.55 kg

=44,5s0O §rOMS
Solid A Nas tie YOO S mask




20.

Material A has a density of 2.64 g/cm3.

Material B has a density of 1.91 g/cm?3.

2 kilograms of Material A and 950 grams of Material B form Material C.
Work out the density of Material C, to 2 decimal places.

A Vowumg = 2,000+ 2 .64 = 757,_$jm3
Q . Volume = A o+~ L-A\ = L4947, R 2199 m?

C % Volume = 757.59 4 497.332\49
= 1,294 .957957 em 3
MCVSS -— ZJ/ODQ-\-—QSO-:- Z;QSO%WS‘

DQAS’:J\j: 2,950 ~ |, 255,95 775 7
- 2..35067..,
= 2 ;35 gloem3

2.
Liquid A has a density of 1.08 g/cm?.
Liquid B has a density of x g/cm3.

750 cm? of Liquid A is mixed with 990 cm3 of Liquid B to form Liquid C.
The mass of Liquid C is 1.7 kilograms. '

Find the density of Liquid B, to 2 decimal places.

Ak Mass = 7soX 1.08= 210g
C . VYolumg = 75049490 |, 770 em
B Mass = \,700-8\@:..8%3

bu\s’ﬁ\j — 2940 =399
= 0.%9
=~ 0 90 Y /UM3

2




